

# FEKETE–SZEGÖ FUNCTIONAL FOR A GENERALIZED CLASS OF NON-BAZILEVIČ FUNCTIONS DEFINED BY USING A DIFFERENTIAL OPERATOR

**Roberta Bucur<sup>1</sup> & Daniel Breaz<sup>2</sup>**

<sup>1</sup>University of Pitesti, Department of Mathematics, Pitesti, Romania,

E-mail: roberta\_bucur@yahoo.com

<sup>2</sup>University of Alba Iulia, Department of Mathematics, Alba Iulia, Romania,

E-mail: dbreaz@uab.ro

## ABSTRACT

In this paper we obtain Fekete–Szegő inequalities for a new subclass  $N_{\alpha, \mu, \lambda, \omega}^{n, b}(\varphi)$  of analytic functions defined by using a generalized differential operator. Some of our results generalize the related work of some authors.

**Key words:** analytic, starlike, convex, Fekete–Szegő functional, Differential operator.

**2010 Mathematics Subject Classifications:** 30C45.

## 1. INTRODUCTION

Let  $U = \{z : |z| < 1\}$  be the open unit disk and let  $\mathcal{A}$  be the class of functions which are analytic in  $U$  given by

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad z \in U. \quad (1.1)$$

Also, let  $\mathcal{S}$  denote the subclass of  $\mathcal{A}$  consisting of univalent functions.

A function  $f \in \mathcal{A}$  is said to be in the class  $N_{\beta, \gamma, \delta}$  if it satisfies

$$\operatorname{Re} \left\{ (1-\beta) \left[ \frac{z}{f(z)} \right]^{\gamma} + \beta \frac{zf'(z)}{f(z)} \left[ \frac{z}{f(z)} \right]^{\gamma} \right\} > \delta, \quad (1.2)$$

where  $0 < \beta \leq 1, 0 < \gamma < 1, 0 \leq \delta < 1$  and  $z \in U$ .

The function class  $N_{\beta, \gamma, \delta}$  was studied in [2, 11, 7]. We note that the class  $N_{1, \gamma, 0} \equiv N_{\gamma}$  was introduced by Obradović [10] who called it the non-Bazilevič type class of functions.

If  $f$  and  $g$  are two analytic functions in  $U$ , we say that  $f$  is subordinate to  $g$ , written as  $f \prec g$ , if there exists a Schwarz function  $w$  analytic in  $U$ , with  $w(0) = 0$  and  $|w(z)| < 1$ , such that  $f(z) = g(w(z))$ , for all  $z \in U$ .

In particular, if the function  $g$  is univalent in  $U$ , the above subordination is equivalent to  $f(0) = g(0)$  and  $f(U) \subset g(U)$  (see [9]).

Recently, for a function  $f \in \mathcal{A}, \alpha, \mu, \lambda, \omega \geq 0, n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ , authors [3] defined the following differential operator, as follows:

$$\begin{aligned} D^0 f(z) &= f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \\ D_{\alpha, \mu}^1(\lambda, \omega) f(z) &= (\alpha - \mu\omega^\lambda) f(z) + (\mu\omega^\lambda - \alpha + 1) z f'(z) \\ &= z + \sum_{k=2}^{\infty} [(k-1)(\mu\omega^\lambda - \alpha) + k] a_k z^k, \\ D_{\alpha, \mu}^2(\lambda, \omega) f(z) &= D(D_{\alpha, \mu}^1(\lambda, \omega) f(z)), \\ &\vdots \end{aligned}$$

$$D_{\alpha,\mu}^n(\lambda, \omega)f(z) = D(D_{\alpha,\mu}^{n-1}(\lambda, \omega)f(z)), \tag{1.3}$$

with  $D_{\alpha,\mu}^n(\lambda, \omega)f(0) = 0$ .

So, if  $f$  is given by (1), we see that

$$D_{\alpha,\mu}^n(\lambda, \omega)f(z) = z + \sum_{k=2}^{\infty} [(k-1)(\mu\omega^\lambda - \alpha) + k]^n a_k z^k. \tag{1.4}$$

Clearly:

- (i) for  $\alpha = \mu = 0$ , we obtain Şahînean’s differential operator [12],
- (ii) for  $\lambda = 1, \omega = 1$  and  $\alpha = 1$  we get the operator introduced by F. Al-Oboudi [1],
- (iii) for  $\lambda = 1, \omega = 1$  we obtain the operator introduced by M. Darus and R.W. Ibrahim [5],
- (iv) for  $\alpha = 1$  we get the operator introduced by M. Darus and I. Faisal [4].

Next, using the differential operator  $D_{\alpha,\mu}^n(\lambda, \omega)f(z)$ , we introduce the following generalized non-Bazilevič class of functions as follows:

**Definition 1.1** Let  $\varphi$  be an univalent function which maps  $U$  onto a region starlike with respect to 1 and symmetric with respect to the real axis,  $\varphi(0) = 1$  and  $\varphi'(0) > 0$ . The class  $N_{\alpha,\mu,\lambda,\omega}^{n,\beta}(\varphi)$  consists of all functions  $f \in \mathcal{A}$  satisfying the following subordination:

$$(1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda, \omega)f(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda, \omega)f(z))'}{D_{\alpha,\mu}^n(\lambda, \omega)f(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda, \omega)f(z)} \right]^\gamma \prec \varphi(z), \tag{1.5}$$

for  $\alpha, \mu, \lambda, \omega \geq 0, 0 < \beta \leq 1, 0 < \gamma < 1, n \in \mathbb{N}_0$  and  $z \in U$ .

We remark that:

- (i)  $N_{\alpha,\mu,\lambda,\omega}^{0,\beta}(\frac{1+(1-2\delta)z}{1-z}) \equiv N^\beta(\delta)$ , where  $N(\delta)$  is the class studied by Jiang and Guo in [7].
- (ii)  $N_{\alpha,\mu,\lambda,\omega}^{0,1}(\frac{1+(1-2\delta)z}{1-z}) \equiv N(\delta)$ , where  $N(\delta)$  is the class of non-Bazilevič functions studied in [14].
- (iii)  $N_{\alpha,\mu,\lambda,\omega}^{0,1}(\frac{1+z}{1-z}) \equiv N_\gamma$ , where  $N_\gamma$  is the class of non-Bazilevič functions (see [10]).

In our paper, we obtain Fekete–Szegő inequalities for the subclass  $N_{\alpha,\mu,\lambda,\omega}^{n,\beta}(\varphi)$ . Recently, Fekete–Szegő problem was studied by many authors [7, 6, 13], and some of them motivated us to come up with the class abovementioned.

**Lemma 1.1** [8] If  $p(z) = 1 + c_1z + c_2z^2 + \dots, z \in U$  is a function with positive real part in  $U$  and  $\zeta$  is a complex number, then

$$|c_2 - \zeta c_1^2| \leq 2 \cdot \max\{1; |2\zeta - 1|\}.$$

The result is sharp for the function given by

$$p(z) = \frac{1+z^2}{1-z^2} \text{ and } p(z) = \frac{1+z}{1-z}, \quad z \in U.$$

**Lemma 1.2** [8] If  $p(z) = 1 + c_1z + c_2z^2 + \dots, z \in U$  is an analytic function with positive real part in  $U$ , then

$$|c_2 - \psi c_1^2| \leq \begin{cases} -4\psi + 2 & \text{if } \psi \leq 0, \\ 2 & \text{if } 0 \leq \psi \leq 1, \\ 4\psi - 2 & \text{if } \psi \geq 1, \end{cases}$$

where :

(i) If  $\psi < 0$  or  $\psi > 1$ , the equality holds if and only if  $p(z) = \frac{1+z}{1-z}$  or one of its rotations.

(ii) If  $0 < \psi < 1$ , the equality holds if and only if  $p(z) = \frac{1+z^2}{1-z^2}$  or one of its rotations.

(iii) If  $\psi = 0$ , the equality holds if and only if

$$p(z) = \left(\frac{1+b}{2}\right)\frac{1+z}{1-z} + \left(\frac{1-b}{2}\right)\frac{1-z}{1+z}, 0 \leq b \leq 1,$$

or one of its rotations.

(iv) If  $\nu = 1$ , the equality holds if and only if  $p$  is the reciprocal of one of the functions such that the equality holds in the case of  $\psi = 0$ .

Also, the above upper bound is sharp and it can be improved as follows, when  $0 < \psi < 1$ :

$$|c_2 - \psi c_1^2| + \psi |c_1|^2 \leq 2, \quad 0 \leq \psi \leq \frac{1}{2},$$

and

$$|c_2 - \psi c_1^2| + (1-\psi)|c_1|^2 \leq 2, \quad \frac{1}{2} \leq \psi \leq 1.$$

## 2. MAIN RESULTS

Unless otherwise mentioned, we assume throughout this paper that  $n \in \mathbb{N}_0$ ,  $\alpha, \mu, \lambda, \omega \geq 0, 0 < \beta \leq 1, 0 < \gamma < 1$  with  $2\beta - \gamma \neq 0$  and  $\beta - \gamma \neq 0, 0 \leq \delta < 1$  and  $z \in U$ .

By using Lemma 1.1, we obtain the following theorem.

**Theorem 2.1** *If function  $f$  given by (1) belongs to the class  $N_{\alpha, \mu, \lambda, \omega}^{n, \beta}(\varphi)$  and  $\zeta$  is a complex number, then*

$$|a_3 - \zeta a_2^2| \leq \frac{B_1}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|} \cdot \max \left\{ 1, \left| \frac{B_2}{B_1} + \frac{(2\beta - \gamma)B_1}{(\beta - \gamma)^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \zeta \right) \right| \right\}.$$

The result is sharp.

**Proof.** Since  $f \in N_{\alpha, \mu, \lambda, \omega}^{n, \beta}(\varphi)$ , there exists a function  $w$  which is analytic in  $U$  with  $w(0) = 0, |w(z)| < 1$  in  $U$ , and such that

$$(1 - \beta) \left[ \frac{z}{D_{\alpha, \mu}^n(\lambda, \omega)f(z)} \right]^\gamma + \beta \frac{z(D_{\alpha, \mu}^n(\lambda, \omega)f(z))'}{D_{\alpha, \mu}^n(\lambda, \omega)f(z)} \left[ \frac{z}{D_{\alpha, \mu}^n(\lambda, \omega)f(z)} \right]^\gamma = \varphi(w(z)). \quad (2.1)$$

Letting the function  $p$  be defined by

$$p(z) := \frac{1 + w(z)}{1 - w(z)} = 1 + c_1 z + c_2 z^2 + \dots \quad (2.2)$$

it is clear that  $p$  is an analytic function with  $p(0) = 1$  and  $Re\{p(z)\} > 0$  for all  $z \in U$ . Therefore,

$$\begin{aligned} \varphi(w(z)) &= \varphi\left(\frac{p(z)-1}{p(z)+1}\right) = \varphi\left(\frac{1}{2}[c_1 z + (c_2 - \frac{c_1^2}{2})z^2 + (c_3 - c_1 c_2 + \frac{c_1^3}{4})z^3 + \dots]\right) \\ &= 1 + \frac{1}{2} B_1 c_1 z + \left[\frac{1}{2} B_1 (c_2 - \frac{c_1^2}{2}) + \frac{1}{4} B_2 c_1^2\right] z^2 + \dots \end{aligned} \quad (2.3)$$

Since

$$\begin{aligned}
 & (1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda,\omega)f(z))'}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \right]^\gamma = \\
 & 1 + (\beta-\gamma)[(\mu\omega^\lambda - \alpha) + 2]^n a_2 z + \\
 & (2\beta-\gamma) \left\{ [2(\mu\omega^\lambda - \alpha) + 3]^n a_3 - \frac{\gamma+1}{2} [(\mu\omega^\lambda - \alpha) + 2]^{2n} a_2^2 \right\} z^2 + \dots, \tag{2.4}
 \end{aligned}$$

it follows by (2.1), (2.3) and (2.4) that

$$a_2 = \frac{B_1 c_1}{2(\beta-\gamma)[(\mu\omega^\lambda - \alpha) + 2]^n},$$

and

$$a_3 = \frac{1}{2(2\beta-\gamma)[2(\mu\omega^\lambda - \alpha) + 3]^n} \left[ B_1 c_2 + (B_2 - B_1) \frac{c_1^2}{2} \right] + \frac{(\gamma+1)B_1^2 c_1^2}{8(\beta-\gamma)^2 [2(\mu\omega^\lambda - \alpha) + 3]^n}.$$

Therefore,

$$a_3 - \zeta a_2^2 = \frac{B_1}{2(2\beta-\gamma)[2(\mu\omega^\lambda - \alpha) + 3]^n} [c_2 - c_1^2 \cdot \eta],$$

where

$$\eta = \frac{1}{2} \left[ 1 - \frac{B_2}{B_1} + \frac{(2\beta-\gamma)B_1}{(\beta-\gamma)^2} \left( \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \zeta - \frac{\gamma+1}{2} \right) \right].$$

It follows from Lemma 1.1 that

$$\begin{aligned}
 |a_3 - \zeta a_2^2| & \leq \frac{B_1}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta-\gamma|} \\
 & \cdot \max \left\{ 1, \left| \frac{B_2}{B_1} + \frac{(2\beta-\gamma)B_1}{(\beta-\gamma)^2} \left( \frac{\gamma+1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \zeta \right) \right| \right\}.
 \end{aligned}$$

This result is sharp for the function  $f$  given by

$$(1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda,\omega)f(z))'}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \right]^\gamma = \varphi(z^2),$$

or

$$(1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda,\omega)f(z))'}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)f(z)} \right]^\gamma = \varphi(z).$$

This completes the proof.

Taking  $n = 0$  in Theorem 2.1 we obtain:

**Corollary 2.1** *If function  $f$  given by (1) belongs to the class  $N_{\alpha,\mu,\lambda,\omega}^{0,\beta}(\varphi)$  and  $\zeta$  is a complex number, then*

$$|a_3 - \zeta a_2^2| \leq \frac{B_1}{|2\beta-\gamma|} \max \left\{ 1, \left| \frac{B_2}{B_1} + \frac{(2\beta-\gamma)(1+\gamma-2\zeta)B_1}{2(\beta-\gamma)^2} \right| \right\}.$$

The result is sharp.

**Corollary 2.2** *If  $f$  given by (1) belongs to the class  $N_{\alpha,\mu,\lambda,\omega}^{n,\beta}(\frac{1+Az}{1+Bz})$  then for any complex number  $\zeta$ , we*

*have*

$$|a_3 - \zeta a_2^2| \leq \frac{A - B}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|} \cdot \max \left\{ 1, \left| \frac{(2\beta - \gamma)(A - B)}{(\beta - \gamma)^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \zeta \right) - B \right| \right\}.$$

The result is sharp.

Setting  $n = 0$ ,  $A = 1 - 2\delta$ ,  $0 \leq \delta < 1$  and  $B = -1$  in Corollary 2.2 we get the result of Jiang and Guo [7], Theorem 2:

**Corollary 2.3** If  $f$  given by (1) belongs to the class  $N^\beta(\delta)$  then for any complex number  $\zeta$ , we have

$$|a_3 - \zeta a_2^2| \leq \frac{2(1 - \delta)}{|2\beta - \gamma|} \cdot \max \left\{ 1, \left| 1 + \frac{(1 - \delta)(2\beta - \gamma)(1 + \gamma - 2\zeta)}{(\beta - \gamma)^2} \right| \right\}.$$

Also, setting  $\beta = 1$  in Corollary 2.3 we get the result of Tuneski and Darus [14], Theorem 1:

**Corollary 2.4** If  $f$  given by (1) belongs to the class  $N(\delta)$  then for any complex number  $\zeta$ , we have

$$|a_3 - \zeta a_2^2| \leq \frac{2(1 - \delta)}{2 - \gamma} \cdot \max \left\{ 1, \left| 1 + \frac{(1 - \delta)(2 - \gamma)(1 + \gamma - 2\zeta)}{(1 - \gamma)^2} \right| \right\}.$$

**Corollary 2.5** If  $f$  given by (1) belongs to the class  $N_{\alpha, \mu, \lambda, \omega}^{n, \beta} \left( \frac{1+z}{1-z} \right)$  then for any complex number  $\zeta$ , we have

$$|a_3 - \zeta a_2^2| \leq \frac{2}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|} \cdot \max \left\{ 1, \left| 1 + \frac{2(2\beta - \gamma)}{(\beta - \gamma)^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \zeta \right) \right| \right\}.$$

This result is sharp.

Setting  $n = 0$ , in Corollary 2.5 we get the result of Tuneski and Darus [14], Corollary 1:

**Corollary 2.6** If  $f$  given by (1) belongs to the class  $N_\gamma$  then for any complex number  $\zeta$ , we have

$$|a_3 - \zeta a_2^2| \leq \frac{2}{2 - \gamma} \cdot \max \left\{ 1, \left| 1 + \frac{(2 - \gamma)(1 + \gamma - 2\zeta)}{(1 - \gamma)^2} \right| \right\}.$$

By using Lemma 1.2, we have the following theorem:

**Theorem 2.2** Let  $\varphi(z) = 1 + B_1 z + B_2 z^2 + \dots$  ( $B_i > 0, i \in \mathbb{N}$ ),

$$\theta_1 = \frac{[(\mu\omega^\lambda - \alpha) + 2]^{2n}}{[2(\mu\omega^\lambda - \alpha) + 3]^n} \left[ \frac{\gamma + 1}{2} + \frac{(B_2 - B_1)(\beta - \gamma)^2}{(2\beta - \gamma)B_1^2} \right],$$

and

$$\theta_2 = \frac{[(\mu\omega^\lambda - \alpha) + 2]^{2n}}{[2(\mu\omega^\lambda - \alpha) + 3]^n} \left[ \frac{\gamma + 1}{2} + \frac{(B_1 + B_2)(\beta - \gamma)^2}{(2\beta - \gamma)B_1^2} \right].$$

If  $f$  given by (1) belongs to the class  $N_{\alpha, \mu, \lambda, \omega}^{n, \beta}(\varphi)$ , then we have the following sharp results:

i) If  $\psi \leq \theta_1$ , then

$$|a_3 - \psi a_2^2| \leq \frac{1}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|} \left\{ B_2 + \frac{(2\beta - \gamma)B_1^2}{(\beta - \gamma)^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \psi \right) \right\}. \tag{2.6}$$

ii) If  $\theta_1 \leq \psi \leq \theta_2$ , then

$$|a_3 - \psi a_2^2| \leq \frac{B_1}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|}. \tag{2.7}$$

iii) If  $\psi \geq \theta_2$ , then

$$|a_3 - \psi a_2^2| \leq \frac{1}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|} \left\{ \frac{(\gamma - 2\beta)B_1^2}{(\beta - \gamma)^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \psi \right) - B_2 \right\}. \tag{12}$$

**Proof.** Let  $f \in N_{\alpha, \mu, \lambda, \omega}^{n, \beta}(\varphi)$  and  $p$  given by (2.2). Similar as in Theorem 2.1, it follows that

$$a_3 - \psi a_2^2 = \frac{B_1}{2[2(\mu\omega^\lambda - \alpha) + 3]^n (2\beta - \gamma)} (c_2 - \rho c_1^2), \tag{2.8}$$

where

$$\rho = \frac{1}{2} \left[ 1 - \frac{B_2}{B_1} + \frac{(2\beta - \gamma)B_1}{(\beta - \gamma)^2} \left( \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \psi - \frac{\gamma + 1}{2} \right) \right].$$

If  $\psi \leq \theta_1$ , then we have  $\rho \leq 0$ . The first inequality (2.5) is established as follows by an application of Lemma 1.2 to equality (2.8). If  $\psi = \theta_1$ , we have  $\rho = 0$ , therefore equality in (2.5) holds if and only if

$$p(z) = \left( \frac{1+b}{2} \right) \frac{1+z}{1-z} + \left( \frac{1-b}{2} \right) \frac{1-z}{1+z}, \quad 0 \leq b \leq 1 \text{ and } z \in U.$$

It can be easily verified that, for  $\theta_1 \leq \psi \leq \theta_2$ ,

$$\max \left\{ \frac{1}{2} \left[ 1 - \frac{B_2}{B_1} + \frac{(2\beta - \gamma)B_1}{(\beta - \gamma)^2} \left( \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \psi - \frac{\gamma + 1}{2} \right) \right] \right\} \leq 1.$$

Next, applying Lemma 1.2 to equality (2.8), we obtain

$$|a_3 - \psi a_2^2| \leq \frac{B_1}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma|},$$

which is the inequality (2.6). In this case, the equality take place for

$$p(z) = \frac{1+z^2}{1-z^2}, \quad z \in U.$$

For  $\psi \geq \theta_2$  we obtain  $\rho \geq 1$ . Hence, applying Lemma 1.2 to (2.8), we get the inequality (2.7). If  $\psi = \theta_2$  we have  $\rho = 1$ , therefore equality holds if and only if

$$\frac{1}{p(z)} = \left( \frac{1+b}{2} \right) \frac{1+z}{1-z} + \left( \frac{1-b}{2} \right) \frac{1-z}{1+z}, \quad 0 \leq b \leq 1 \text{ and } z \in U.$$

Now, we will show that the bounds are sharp.

Let the function  $K^s$  ( $s = 2, 3, \dots$ ), be defined by

$$(1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)K^s(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda,\omega)K^s(z))'}{D_{\alpha,\mu}^n(\lambda,\omega)K^s(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)K^s(z)} \right]^\gamma = \varphi(z^{s-1}),$$

with  $K^s(0) = 0 = (K^s(0))' - 1$ . Also, let the functions  $F_t$  and  $H_t (0 \leq t \leq 1)$  be defined by

$$(1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)F_t(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda,\omega)F_t(z))'}{D_{\alpha,\mu}^n(\lambda,\omega)F_t(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)F_t(z)} \right]^\gamma = \varphi\left(\frac{z(z+t)}{1+tz}\right),$$

with  $F_t(0) = 0 = F_t'(0) - 1$ , and

$$(1-\beta) \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)H_t(z)} \right]^\gamma + \beta \frac{z(D_{\alpha,\mu}^n(\lambda,\omega)H_t(z))'}{D_{\alpha,\mu}^n(\lambda,\omega)H_t(z)} \left[ \frac{z}{D_{\alpha,\mu}^n(\lambda,\omega)H_t(z)} \right]^\gamma = \varphi\left(-\frac{z(z+t)}{1+tz}\right) + \delta,$$

with  $H_t(0) = 0 = H_t'(0) - 1$ .

We note that the functions  $K^s, F_t, G_t \in N_{\alpha,\mu,\lambda,\omega}^{n,\beta}(\varphi)$ .

For  $\psi < \theta_1$  or  $\psi > \theta_2$ , the equality holds if and only if  $f \equiv K^2$  or one of its rotations. Also, if  $\theta_1 < \psi < \theta_2$ , the equality holds if and only if  $f \equiv K^3$  or one of its rotations. If  $\psi = \theta_1$ , the equality holds if and only if  $f \equiv F_t$  or one of its rotations. If  $\psi = \theta_2$ , the equality holds if and only if  $f \equiv H_t$  or one of its rotations.

**Example 2.3** Let  $\varphi(z) = 1 + \frac{2}{\pi^2} \left( \log \frac{1+\sqrt{z}}{1-\sqrt{z}} \right)^2$ ,

$$\theta_1 = \frac{[(\mu\omega^\lambda - \alpha) + 2]^{2n}}{2[2(\mu\omega^\lambda - \alpha) + 3]^n} \left[ \gamma + 1 - \frac{(\beta - \gamma)^2 \pi^2}{6(2\beta - \gamma)} \right],$$

and

$$\theta_2 = \frac{[(\mu\omega^\lambda - \alpha) + 2]^{2n}}{2[2(\mu\omega^\lambda - \alpha) + 3]^n} \left[ \gamma + 1 + \frac{5(\beta - \gamma)^2 \pi^2}{6(2\beta - \gamma)} \right].$$

If  $f$  given by (1) belongs to the class  $N_{\alpha,\mu,\lambda,\omega}^{n,\beta}(\varphi)$ , then we have the following sharp results:

i) If  $\psi \leq \theta_1$ , then

$$|a_3 - \psi a_2^2| \leq \frac{4}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma| \pi^2} \left\{ \frac{2}{3} + \frac{4(2\beta - \gamma)}{(\beta - \gamma)^2 \pi^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \psi \right) \right\}.$$

ii) If  $\theta_1 \leq \psi \leq \theta_2$ , then

$$|a_3 - \psi a_2^2| \leq \frac{4}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma| \pi^2}.$$

iii) If  $\psi \geq \theta_2$ , then

$$|a_3 - \psi a_2^2| \leq \frac{4}{[2(\mu\omega^\lambda - \alpha) + 3]^n |2\beta - \gamma| \pi^2} \left\{ \frac{4(\gamma - 2\beta)}{(\beta - \gamma)^2 \pi^2} \left( \frac{\gamma + 1}{2} - \frac{[2(\mu\omega^\lambda - \alpha) + 3]^n}{[(\mu\omega^\lambda - \alpha) + 2]^{2n}} \psi \right) - \frac{2}{3} \right\}.$$

For  $\theta_1 \leq \psi \leq \theta_2$ , Theorem 2.2 becomes:

**Corollary 2.7** Let  $f \in N_{\alpha, \mu, \lambda, \omega}^{n, \beta}(\varphi)$  given by (1) where

$$\varphi(z) = 1 + B_1 z + B_2 z^2 + \dots \quad (B_i > 0, i \in \mathbb{N}).$$

Also let  $\theta_1 \leq \psi \leq \theta_2$  and

$$\theta_3 = \frac{[(\mu\omega^\lambda - \alpha) + 2]^{2n}}{[2(\mu\omega^\lambda - \alpha) + 3]^n} \left[ \frac{\gamma + 1}{2} + \frac{(\beta - \gamma)^2 B_2}{(2\beta - \gamma) B_1^2} \right].$$

i) If  $\theta_1 \leq \psi \leq \theta_3$ , then

$$|a_3 - \psi a_2^2| + |\psi - \theta_1| \cdot |a_2|^2 \leq \frac{B_1}{|2\beta - \gamma| [2(\mu\omega^\lambda - \alpha) + 3]^n}. \quad (2.9)$$

ii) If  $\sigma_3 \leq \nu \leq \sigma_2$ , then

$$|a_3 - \psi a_2^2| + |\theta_2 - \psi| \cdot |a_2|^2 \leq \frac{B_1}{|2\beta - \gamma| [2(\mu\omega^\lambda - \alpha) + 3]^n}. \quad (2.10)$$

**Proof.** If  $\theta_1 \leq \psi \leq \theta_3$ , we have

$$|a_3 - \psi a_2^2| + |\psi - \theta_1| \cdot |a_2|^2 \leq \frac{B_1}{2|2\beta - \gamma| [2(\mu\omega^\lambda - \alpha) + 3]^n} \cdot (|c_2 - kc_1^2| + k|c_1|^2),$$

so, applying Lemma 1.2, we obtain

$$|a_3 - \psi a_2^2| + |\psi - \theta_1| \cdot |a_2|^2 \leq \frac{B_1}{|2\beta - \gamma| [2(\mu\omega^\lambda - \alpha) + 3]^n},$$

which is the inequality (2.9). For  $\theta_3 \leq \psi \leq \theta_2$ , we have

$$|a_3 - \psi a_2^2| + |\theta_2 - \psi| \cdot |a_2|^2 \leq \frac{B_1}{2|2\beta - \gamma| [2(\mu\omega^\lambda - \alpha) + 3]^n} \cdot (|c_2 - kc_1^2| + (1-k)|c_1|^2)$$

and, applying Lemma 1.2, we obtain

$$|a_3 - \psi a_2^2| + |\theta_2 - \psi| \cdot |a_2|^2 \leq \frac{B_1}{|2\beta - \gamma| [2(\mu\omega^\lambda - \alpha) + 3]^n},$$

which is the inequality (2.10). This completes the proof.

**Remark 2.1** By specializing the parameters  $\alpha, \mu, \lambda$  and  $\omega$  in the above results we obtain Fekete–Szegő inequalities for the subclasses involving the operators mentioned in introduction.

## REFERENCES

- [1] F.M. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator, Ind. J. Math. Math. Sci., (27)(2004), 1429-1436.
- [2] G. Bao, L. Guo, Y. Ling, Some starlikeness criteria for analytic functions, Journal of Inequalities and Applications (2010), Article ID: 175369.
- [3] R. Bucur, L. Andrei, D. Breaz, Coefficient Bounds and Fekete-Szegő Problem for a Class of Analytic Functions Defined by Using a New Differential Operator, Applied Mathematical Sciences, Vol. 9, 2015, no. 28, 1355 - 1368.
- [4] M. Darus, I. Faisal, Some subclasses of analytic functions of complex order defined by new differential operator, Tamkang Journal of Mathematics, Vol.43,(2)(2012), 223-242.
- [5] M. Darus, R.W. Ibrahim, On new subclasses of analytic functions involving generalized differential and integral operators, European Journal of Pure and Applied Mathematica, Vol.4, (1)(2011), 59-66.



- [6] S. P. Goyal, S. Kumar, Fekete-Szegő problem for a class of complex order related to Salagean operator, *Bull. Math. Anal. Appl.* 3, (4)(2011), 240–246.
- [7] X. Jiang, L. Guo, Fekete-Szegő functional for some subclass of analytic functions, *International Journal of Pure and Applied Mathematics*, Vol. 92(1)(2014), 125-131.
- [8] W. Ma, D. Minda, A unified treatment of some special classes of univalent functions, In: Li Z., Ren F., Lang L., Zhang S.(eds.): *Proceedings of the conference on complex analysis*, Int. Press. Conf. Proc. Lect. Notes Anal. Tianjin, China, (1)(1994), 157–169.
- [9] S.S. Miller, P.T. Mocanu, *Differential Subordinations: Theory and Applications*. Series on Monographs and Textbooks, Pure and Applied Math., vol. 225, Marcel Dekker, New York(2000).
- [10] M. Obradović, A class of univalent functions, *Hokkaido Math.*, 27(1998), 329-335.
- [11] P. Sahoo, S. Singh, Y. Zhu, Some starlikeness conditions for the analytic functions and integral transforms, *Journal of Nonlinear Analysis and Applications* (2011), Article ID: jnaa-00091.
- [12] Štanić, G. St., *Subclasses of univalent functions*, Lecture Notes in Math., Springer Verlag, Berlin, 1013(1983), 362-372.
- [13] T. M. Seoudy, Fekete-Szegő problems for certain class of non-Bazilevič functions involving the Dziok-Srivastava operator, *ROMAI J.*, vol.10, no.1(2014), 175–186.
- [14] N. Tuneski, M. Darus, Fekete-Szegő functional for non-Bazilevič functions, *Acta Mathematica Academiae Paedagogicae Nyíregyháziensis*, New Series, 18, No.2 (2002), 63-65.